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B.Com. (Gen/Res) DEGREE (CBCS) EXAMINATION, OCTOBER/NOVEMBER 2017.
/ (Examination at the end of Third Semester)
Part II — Core Paper
BUSINESS STATISTICS
(Regulation 2015-2016)

Time : Three hours Maximum : 75 marks
SECTION A — (5 x 5 = 25 marks)

Answer any FIVE of the following questions.
1. Define Statistics.

KeT08 FPQRDO0R) D580B0s.

2. Differences between primary and secondary data.

G0 SoBatn BN SEroTRs Baren.

3. What are essentials of a good average?

Q0D Dew B, oFeTen.

4. Define Median.

GBI DBGDOVOG.

5. Discuss the uses of Dispersion.
DABes ABWE), GHAT .
6.  What is meant by Skewness?

DS0g0 ITTEDAI?

7. Components of Time series analysis.

SPoReO BE), IO Benok.

8. Types of Index numbers.

PSSX) éoa);e) Hsren.



9 (a)
(b)
10. (a)
(b)
11. (a)

SECTION B — (5 x 10 = 50 marks)
Answer ONE from each Unit.
UNIT I

Draw a Histogram for the following data :

& (808 PHTTTINE’ IPRPHTa0d Adkodw :
X: 05 510 10-15 15-20 20-25 25-30 30-35

f: 6 12 22 25 16 9 5
Or
Prepare a Pie-diagram :
Items : Food Cloth TFuel Rent Education Others
Expenditure : 170 80 40 40 20 10

2 DB Heo0R0 Rafoodoo :

SoDev : e8I Oy BOFDO - &Y DO [BHSH0en
BN - 170 80 40 40 20 10
UNIT II
Calculate arithmetic mean.
Class : 0-10 10-20 20-30 30-40 40-50 50-60 60-70
Frequency : 2 4 6 8 10 12 14

SIS B8);0a0.
BEKS 0-10 10-20 20-30 30-40 40-50 50-60 60-70

::7"?68;))2650 ] 2 4 6 8 10 12 14

Or
Calculate mode.
2IETPOBES0N Keard Dosdw.

X: 0-10 10-20 20-30 30-40 40-50 50-60 60-70
/- 5 13 19 20 25 12 6
UNIT III
Calculate Quartile deviation :
béog;oé DBOTR) BE) ;0506 :
Class (88%8): 0-10 10-20 20-30 30-40 40-50 50-60
f: 10 15 25 30 10 10

Or
2 (3*02BST15)



12.

13.

Calculate Bowley’s skewness :

below 20  below 30  below 40  below 50
10 25 40 65
'O PSdoghooty B8 0508 :

20 ¥o&3 30 ¥o0&3 40 %083 50 ¥083
BD B BD B D
10 25 40 65

UNIT IV

below 60  below 70
80 85
60 %083 70 %043
BED BLS
80 85

Calculate Spearman’s Rank correlation from the following data :

RAHEROS o508 BIPHoR0E Keasdw B 0HHW :

X: 20 25 60 45 8

Y: 25 50 55 50 6

0 25

0 A

Or

95 65 25 75

72 78 80 63

Calculate two regression equations from the following data :

1808 SEP0BHR0HE BOL DRI BAEBENNOR Keas Jo0od :

X: 1 2 3 4 5
Y: 6 8 10 12 15
UNITV

6 7 8

18 20 22

Calculate Index numbers for 2004 by using the following data

(1) Laspeyres method
(i1) Paasches method

(i11)) Darbish and Bowley method

Prices Quantity
2000 2004 | 2000 2004
A 6 10 50 56
B 2 2 100 120
C 4 6 60 60
D 10 12 30 24
E 8 12 40 36

below 80

100

80 o0&

5
100

24

(3¥02BST15)



2004 50580 SO JEHR W HoRge 88,0908 :
. ‘9, -
@ e)‘a)m)oli)s o)ge?
s 9«
(11) ey o)ge‘_’é
(i) @Bym2wBasw V) 55

&&en SB3Tees0
2000 2004 2000 2004
A 6 10 50 56
B 2 2 100 120
C 4 6 60 60
D 10 12 30 24
E 8 12 40 36
Or
(b) Calculate Straight line trends by using least squares
Years : 2000 2001 2002 2003
Production : 4 6 9 10

ERR DT SBS agor D8P B> (S59BR 880908 :
DoDBYTTD | 2000 2001 2002 2003

ééﬁé ; 4 6 9 10
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15.

. 16.

17.

18.

UNIT IV

‘Define ‘Banker’ and ‘Customer’? Explain the

general relationship between banker and
customer?

“ergosth” HoBAI PTG’ DEGD0D T8 Sody

DOG G DOWOTTRY) BELHHW.

Or
Explain the rules to be follow by a banker while
opening an account in the name of a minor.

af PIE DB groe  (DVoPOBLIPEd 275050
DrEI0VDODD DVOLBI BOJIOE.

UNIT V

Explain the duties and responsibilities of a paying
banker.

3§o?{)) arsoéd) BooE), oo Bt wé;ée)m

BoJod.

Or
Explain the precautions to be taken by paying
banker to claim the statutory protection.

TROHE S5 roloer 578N Do  ergosd
HEH0DD B0y ar|fE B0 dHBoYHH.

4 (3*02BTP15)

Time ; Three hours

(3*02BTP15)

B.Com. (Gen) DEGREE (CBCS) EXAMINATION,

OCTOBER/NOVEMBER 2017.
(Examination at the end of Third Semester)
Part II
BANKING THEORY AND PRACTICE
(Regulation 2015-16)
Maximum : 75 marks
SECTION A — (6 x 5 = 25 marks)

Answer any FIVE questions.

Define Bank. What is a Commercial Bank?
2508 %0 RYgD0VOE. Toedesy ermgo8 e D7
What is a Foreign Bank?

BB ary08 &3 B0?

What is E-Banking?

E-2r5080R edm 32072

Define unit banking.

asoeDeS wéogoﬁm D850V,



~J

10.

What are the objectives of NABARD?
ey 25?301)‘&) B)0s.

“What are the features of a Cooperative Bank?

BI5e8 g8 ofeTen deyod.

What are KYC norms?
KYC d200&5e0 deyod.

What are the duties of a holder in due course?

SPOI80 ;’Jsgti) DEoen degydow.

SECTION B — (5 x 10 = 50 marks)
Answer ONE from each unit.
UNITI

What is a bank? Explain various kinds of banks.
P I AD?  wPHeSVD 20§ SeR
BP0,

Or
Explain the functions of a central bank.

B0 250 GBov); DEIOR DHBOYHDHW.

2 (3*02BTP15)

11.

12.

13.

14.

UNIT II

Explain the advantages and limitations of branch
banking. v

27709 2r°5080R B, (HAresTren H8aw IBBLLD
DEOJHDW.

Or
Write a note on Innovation practices of banking
system in India.

| B30 ergo8of B55% eren BEYHBOY HIBD

D) Beae0 DoSobk.

UNIT III

What 1s a regional rural bank? Explain the
advantages and limitations of regional rural
banks.

Prodah edoes 2508 R I? 0B e
23250500 50 (IABIraTren 280w 8B BoSok.

Or
Explain the functions of “NABARD”.

mw%} DL BEVYHHN.
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(3*02COA15)

B.Com. (Gen/Res) DEGREE (CBCS) EXAMINATION, OCTOBER/NOVEMBER 2017.
(Examination at the end of Third Semester)
Part II — Core Paper
CORPORATE ACCOUNTING
(Regulation 2015-2016)

Time : Three hours Maximum : 75 marks

SECTION A — (5 x 5 = 25 marks)
Answer any FIVE of the following questions.
1. What is securities premium? For what purpose securities premium amount can be utilised?

EGBE3 (DADO BIM® D27 D (FEBIreEre 550 DEIBE (HAAD0 e EIBIRE?

2. Types of preference shares.

Q%5 Tered” Ssee.

3. Reserves to be used for issue of bonus shares.

%00 Trere erB8 &DA3PR0D Besducen.

4. Write a short notes on employee stock option plan.

&5°§R 8 DD (HeTPED Dy S5 raod.

5. Explain the merits and demerits of buy-back of shares.

Treren SBR §°oR%e e, a0 9HB0HIW.

6.  Write the difference between debentures and shares.

Trereen 0Bk GBoBEBe K¢y DgEEIRD RO

7. What is goodwill? Explain the factors affecting the value of goodwill?'

1EDS e 32072 KHEDS dendR $ardB0 DY ooy I9BoDod.

8. Managerial remuneration.

QOGTE DBD0.



10.

SECTION B — (5 x 10 = 50 marks)

Answer ONE question from each Unit.
UNIT I

X Ltd., offered 10,000, equity shares of ¥ 100 each at a discount of 6% payable as follows :
On application T 25
On allotment ¥ 34

On first and final call T 35.

The applications received were for 9,000 shares. All the money was duly received except the
first and final call on 100 shares which were forfeited 50 shares were reissued @ T 90 as fully
paid write necessary journal entries and prepare cash account.

X Ltd., S0 e 286838 2100 De0s KORS 10,000 HadsS Treremy 6% G058 28 3 808

B0 TroEST BP0 SES i 8 PyeD §°6o8:
S8 E" T25
BeranoHE® T34

Dosed BAH 9H8 ey 35 @b I Trered” 9,000 Terev B Hom® ©owos.
100 Trereyp 0eed BT 258 526 ), 7)) TANTPe A TR DAL ©aN08. 100 Tere

233) D). 23 IV TereS® 50 Terenn Tor 2.8),638 90 F°8 IYoH SBR &8 Is.

9008 &eg)";’)éd))e)éo ErO0G SoBa% HHEO rerdy HOEE Daod.

The balance sheet of ‘PQR Ltd" as on 31.12.2016 1s given below :
,, Liabilities z Assets z

5,000 shares of ¥ 100 each, T 75 paid up 3,75,000 Sundry assets 10,25,000

Securities premium reserve _ 1,00,000
General reserve 2,00,000
Profit and Loss account 1,50,000
Sundry creditors 2,00,000
10,25,000 10,25,000

The company decided to make partly paid shares as fully paid out of P & L account. It was
also decided to issue one fully paid bonus share for every two shares held and for this
purpose the securities premium reserve was to be fully used first and later general reserve.
Give journal entries and prepare balance sheet for the above.

9 (3*02COA15)



11.

12

PQR Ltd 38 52 expo S¢3 31.12.2016 7re38 808 d¢5orm o8 :
929100 T 3060 T

5,000 reren, T 100 De0d 5OR, T 75 390238 3,75,000 29¢ esdven 10,25,000

PEgBe3 Lf):)oai)o B2stsg 1,00,000
RegSes Bastig 2,00,000
ergr, $30 g | 1,50,000
DDE 2a0EITICEHED 2,00,000
10,25.000 10,25,000

eI PB® e H0G, FEEO oI Trerw JoBT IY0) oI DALIBH DBk
58 Both TerefH wf SWR Trer RHHB. Se DI SBSRS’ DeERs DB DAADO
Bestiog FTRL Jue) DIBIR0D, BETH FSes Barthyn IVAIROBHBK. P AYAT® BN
DeTHERe0 @D, e P HD HALTKD Iabod.

UNITII

Suhas Ltd., grants 1000 options to its employees on 1.4.2016 at ¥ 60. The vesting period is
two and half years. Market price on that date is ¥ 90. All the options were exercised on
31.7.2016. Write journal entries if the face value of equity shares is ¥ 10 per share.

1.4.2016 5 030 OBE & é&eéfi)e)g.) 1000 e300 T 80 Qoo™ Do, KDY stedw
BooR)E DoIHBHe. & o8 253‘6695_ @8 - 290. 31.7.2016 S &) ©93 eaIBIRodwrzown.

568563 T 5009 900D TL0 SOIHE DEFERORO Fras0H.

On 1.1.2013, A Ltd., company issued 10,000, 14% debentures of 10% each repayable after
3 years. It has been decided to establish a sinking fund for their redemption. The annuity
table shows that the annuity of Re.1 for three years at 10% interest amounts to 0.33100. The
investments yield 10% interest. The investments is to be made in nearest ten rupees.
Prepare sinking fund account, sinking fund investment account and 14% debentures account.

1.1.2013 ¥ A Ltd. 5020 3 Joddore B0 GBR 302015258)9“)6 28638 e, 10 3°9pd 10,000,
14% &BoBgR0 28 B208. GBoDY J3THV0 §70 Ddeg FEINED FDoT0R dFoWHHE. T85°08
1 &raman Gty S0 JoseyTre, 10% 3G 0.33100 sraraheorr T8 S8 59008

Deygaen 10% 950 @0B3008. HD 58 Erranes” DeyaHeR) BIDOVSOD.

2 9D8H0O o0& Doy IEIVE FBr, deg ISV e e B85 14% GBoDY PO
HOSIE DAHOE. '

3 (3¥02COA15)



UNIT II1

13. From the following particulars, calculate the value of an equity shares based on rate of

earning :
£

2000, 9% preference shares of ¥ 100 each 2,00,000
50,000 equity shares of ¥ 10 each ¥ 8 per share paid up 4,00,000
Expected profit per year before tax _ 2,18,000
Rate of tax 40%
Transfer to general reserve every year 20% of profit
Normal rate of earning 15%

&4 1308 95070 K00&, er7ako (BE) trad Bew esgrdor Sedgd Trere Dens) BEOYIW :

2000, 9% esQ55) Toerren 2.57,5),63 T100 deud Kod 2,oo¥,ooo
50,000 &e8ged Tresren 2,575,638 T 10 900 Ko, T 8 T°3pd 3dodso  4,00,000
509) D00 (B BoDHYBo e330DD erEfo 2,18,000
5:9) Bew ' 40%
9D DoDBYEH0 FpeSes Besdgtd H5do) oS 20%
AeSes TP D 15%

14. From the following information, calculate the value of Goodwi]l under :
(a) 3 years purchase of super profits method
(b) Capitalisation of super profit method :
(i)  Average capital employed T 6,00,000

(1) Net profits of the firm for the past 3 years were - ¥1,07,600 ; ¥ 90,700 and
T 1,12,500.

(1ii) Normal rate of return — 12%

(iv) Remuneration paid to partners - ¥ 12,000 p.a.
(v) Assets of the firm'- T 7,54,762

(vi) Current Liabilities - ¥ ‘31,329.

&4 308 SATTE0 $08, HEIS dedH> B 0PI :
(a)  ©EIY orre PG By, 3 vodEyTe §0R%en
(b) &I ergre Z)g@ BoE); LTSS
1) DK DosreiHo ABIPRoD0E8 T 6,00,000

() KB 3 Jodoreurr K)og Bk, BPE ergren HOI T1,07,600 ; T 90,700 08050
T 1,12,500.

4 (3*02COA15)



(ili) reeSes oo Be - 12%

iv) Qe 29005 Do T 12,000 p.a.
(v)  Hog G, eshoen — T 7,54,762

(vi) Lévn}_)oé edpen — T 31,329.

UNIT IV

15. Prepare balance sheet as at 31.3.2016 from the particulars furnished by ‘Zee Ltd’ as per
Schedule III of the Companies Act, 2013.

, 3 Z

Equity share capital (Af 10 each fully paid) 8,00,000 Sundry debtors 1,60,000
Calls in arrear 800 Advances (Dr.) 34,160
Land T 1,60,000 Proposed dividend 48,000
Building . 2,80,000 Surplus balance 80,000
Plant and Machinery 420,000 Cash at bank 1,97,600
Furniture . 40,000 Patents _ 10,640
General reserve { 1,68,000 Sundry creditors

Loan from IDBI 1,20,000 (for Goods and Expenses) 1,60,000
Loans (unsecured) : 1 96,800 Stock :

Provision for. taxation 54,400 Finished goods 1,60,000

Raw material 40,000
Adjustments :
(a) 1,500 equity shares were issued for consideration other than cash.

(b) Loan of T 1,20,000 from IDBI is inclusive of ¥ 6,000 for interest accrued but not due.
The loan is hypothecated by plant and machinery.

(¢) Debtors of T 50,000 are due for more than six months.
(d) The cost of assets :
Building ¥ 3,20,000 ; Plant and Machinery ¥ 5,60,000 ; Furniture ¥ 50,000.
(¢) Bank balance includes ¥ 2,000 with Trust Bank Ltd which is not a scheduled bank.
(fy  Bills receivable for ¥ 2,20,000 maturing on 30.6.2016 have been discounted.

(g) The company had contract for the erection of machinery at ¥ 1,50,000 which is still

incomplete.

5 (3*02COA15)



16.

£ 92088 o8 31.03.2016 X D08 208 5T 200 LoD Heyo 2013, WS 11 (S58Hn

&), VPO begééo HOIT°E Dood :

3 3

o83t Trer B0t (T 10 $°9po JrBre 39oasd)  8,00,000 224 axves|itoen 1,60,000
VHO W5CaED _ 800 eaganew (Dr.) | 34,160
EALREIN) 1,60,000 988025 &oao& 48,000
gdTren 2,80,000 20iHen deg 80,000
ot HBain abogo : 4,20,000 zJ"éos‘oeSﬁ BN 1,97,600
$58)6 40,000 Desoen 10,640
Spres Bastdg 1,68,000 323¢& awearehen
IDBI %009 ey 1,20,000 (R5%0% H08aw o)  1,60,000
edpen (FF0829) 96,800 = JLK :
STAD SAYD oD 54,400 8 @005 1,60,000

S0é& Sorgren 40,000

&I ¢
[~ )

(2) 1500 Ssdced Trere 3B (HADRE 28 BIHA

(b) IDBI ey T 1,20,000 oe5® T 6,000 éc; OO0 &08. &8 P SO 28aw aboroKo

TeEe0) Sodd.
[:8]

(©) awested® T 50,000 6 0o ET7) DE)D SPOR0 AI0D TZHOVDD

(d) e Ded:

gdTre0 T 3,20,000 ; Sroew o8asw ao@roio ¥ 5,60,000 ; :{)8&{55 T 50,000.

(€) ergo% Do’ T 2,000 ev, 1)@)”565_ 2508 520 (og) 5008

)  Sdorew Deven T 2,20,000 30.6.2016 escedes SPOR0 G0 BADHDEI

(8) EowdE aoo sPory T 1,50,000 0% Soch, a08. 555 8 SOBE.

Following is the Trial Balance of ‘Pragathi Co. Ltd.,” as at 31.3.2016.

Particulars Dr.
4

Share capital

Reserve fund

Debtors and creditors 4,00,000

Fixed assets 6,00,000

Purchases and sales 10,00,000
6

Cr.
:
12,00,000
4,00,000
60,000

18,00,000

(3*02COA15)



Particulars

Wages

Establishment expenses
Stock (01.04.2015)

Govt. securities

Dividend equilisation fund
Income-tax paid
Income-tax provision (01.04.2012)
Interim dividend

Interest

Staff provident fund
Goodwill

Profit and Loss account

Dr. Cr.
£ £
6,00,000
1,00,000
4,00,000
6,00,000
2,00,000
2,00,000
4,00,000
1,00,000
50,000
50,000
5,60,000
4,00,000
45,60,000 45,60,000

Prepare statement of profit and loss for the year ended 31.03.2016 and balance sheet as at

that date.

Take into consideration the following adjustments.

(a) Stock on 31.03.2016 was T 8,00,000
(b) Depreciation on fixed assets T 30,000

(¢) Provide T 1,00,000 for income tax on 31.03.2016

(d) Provide 10% of net profits to reserve fund.

Se 1808 @0o¥r Qoé& INB Sowd d0BE’ BE); ergdare DIBE Bk &) VPO bgé(‘()

31.03.2016 z7¢38 H058) DaDHod.

DJHoRe

TP TPONO
8&6)5 28

]
20083(/fuen 80k aeatrsen
DTN
el —o
"0 "en HoBokn edysen
DeTEen
%véb PENe
2% (01.04.2015)
(Sg08g e Beden
GDG0& SATHBS DY

Dr.

4,00,000
6,00,000
10,00,000
6,00,000
1,00,000
4,00,000

6,00,000

Cr.

T
12,00,000

4,00,000

60,000

18,00,000

2,00,000

(3*02COA15)



18.

Dr. Cr.

AT
I T

&TdH0 DY IoH 2,00,000

&TP050 DY Jomen (01.04.2012) : 4,00,000
20535088 EB0E 1,00,000

56 | 50,000
dapoB PrOB0eS 08 50,000
K&EDS 5,60,000

@éé%@ QP 4,00,000

45,60,000 45,60,000

A&eTe :
[~ ™
(a) 31.03.2016 738 3% dewd T 8,00,000
(b)  RoeRyep BHEe T 30,000
(©)  31.03.2016 7738 &m0%HR) Dy oe — T 1,00,000
(d) D8 orgres® 10% B Bessig G H5YoHIN.

UNIT V

Explain the important provisions of Companies Act, 2013 in respect of issue of debentures.

EB0DY 2788 JowoBod Sode Hgo, 2013 S ) DGR HBoYHDL.

What is meant by book-building? Now how companies are issuing the shares to the Public?

208 DYoR I 320? HAS Lo TeTw H2e ) dFore &8 IN0H?

(3%¥02COA15)



15.

16.

17.

18.

UNIT IV

Explain about parts of MS-Access with a block
diagram.

28 Vg D08 MS-Access @), grre 809
DHBovod.

Or

What are the different ways to add a table in
Access database?

ArFo GerBy  of 6388 S°BodadE I
Boeren D032

UNIT V

What are the different sections of a report?
8$BSD D¢ Dgrren DDoed?

Or

What is Query? What are the different options in
creating a query?

Query ©3mAN? Query B QROBE0S® 20 Jod¥en
AD?

4 (30070AT15)
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B.Com. (Res) DEGREE (CBCS) EXAMINATION,
OCTOBER/NOVEMBER 2017.
(Examination at the end of Third Semester)

‘Part I : Computer Applications
OFFICE AUTOMATION TOOLS
(Regulation 2015 - 2016)

Time : Three hours Maximum : 75 marks
SECTION A — (5 x 5 = 25 marks)

Answer any FIVE of the following questions.

1. Explain the uses of office automation tools.

G0 8505 rS) SSBTHSVeR 9380308,

22 What are the steps in printing a worksheet?
3B B0|EesS® Ko $$BD0e3?

3. How to change the row height?
HERD DBV BIENe) PR’ EaknHn?

4.  What is Sort? Write steps for sorting.
B ORMTDD? GoRS® Ko e Erakod.



10.

What is a formula and a function?

PR BAL HOES LOTR?

What is a Macro? What are the advantages of
Macros? .

A1§° e d207? We SR PBrerSned?

What are the uses of forms’ in MS-Access?

MS-Access ¢5° ‘@5@’ BE), GIBTSE0e3?

Write steps for printing a query.

308 Do|EeaeS® Ko ESBOR [Eraiodw.

SECTION B - (5 x 10 = 50 marks)
Answer ONE of each Unit.
UNITI
What are the uses of MS-Excel?
MS-Excel H0d &5B5me3d0e3?

Or

Discuss some of the goals of office automation.
e300 e5e5"B0KS B, 577 oF R0 380908,
2 (30070AT15)

11.

12.

13.

14.

UNIT II

Explain some function in Excel and outline their
job.

Excel §° §°0) P00 9580006 So8akwn 7763 H09
DIBoDoG.

Or

Explain the formatting features in Excel.

Excel &° 98;830R oo 998000&.

UNIT III

v

What is a chart and how td modify the data used
for plotting?

FTE ORI 3BYBOST TED Berdd IHBoBoe

DEPR® [TPO50HD.

Or
What is a Macro? How to create and Edit a Macro?
SrE° edmR? SrE%0 deor 18a0eS oBasny JéeS
Dety?

3 ~ (30070AT15)



